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Corresponding to the modulation index p = 0.5, sketch the AM for the periodic triangle

single m(t) shown in the figure'.
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b) For the signal on the a above figure. With = 0.8.
1) Find the amplitude and power of the carrier.

2) Find the efficiency of the modulation index.

ps

3) Find the total power and use
s+pc

to find power efficiency.
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Draw SSB —5C block diagram and follow it in it is mathematics proof,
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Determine the frequency deviation and modulation index for an FM
modulation with deviation ks = 10 kHz/v. The modulation signal to be transmitted is

m(t)=5 Cos 10 kHz 1T t.
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Given m(t) = 2 Sin 4000 1T t, the frequency deviation constant equals 400,000 T rad/ sec /volt

and that the phase deviation constant equals 2 rad/sec/volt:

a) Estimate the bandwidth of FM.

b) If [__4’_73/ is 4000 T, use the relation AF 3..1- k [dml to find EBpyp,

at i M 2 o max,

c) If the frequency of m(t) is halfed and Aff,, and Af,,, aredoubled,
find EBFM and EBPM
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